
SGJ DAV SEN SEC PUBLIC SCHOOL, HARIPURA 

Class- 3rd 

Date : 27-08-25 
Revision Assignment 

Instructions :-1. Do all the work in fair notebook day-wise. 

2. Write in neat and clean handwriting. 
English 

Q1  What will you do if you see some children teasing animals at the zoo?     (3 Marks) 

Ans a) If I see some children teasing the animals at the zoo I will stop them not to do so.                      

b.)We should take care of them. 

c.) We should treat them with kindness and respect 

Q2 . What do trees teach us?           (3 Marks) 

Ans. a)Trees teach us to be kind .         b.)We should be helpful like trees. c.)They teach us not to harm anyone. 

Q3.  Find out how we all especially children can help in endangered species?    (3 Marks) 

Ans a) We must stop cutting forests and killing animals.  

b.) Children should not harm animals.    

c.) We should take care of them.                 

d.) Forests and animals play an important role in our life,they must be protected. 

Q4.  What  dolphins do when they are angry?                                                      (3 Marks) 

Ans. When dolphins are angry or upset, they make a loud clapping noise with their jaws. This noise is like a warning 

sign that tells others to stay away. 

Hindi 

1. हाथी और चिड़िया पाठ के आधार पर हाथी पे़ि उखा़िकर यहाां वहाां घूमन ेलगा ।आप कल्पना कीजिए कक पे़ि 
उख़िने से ककस-ककस को नुकसान पहुांिा होगा और इसका क्या पररणाम हुआ ?          (2 अांक) 
उत्तर :- इससे नुक़सान यह हुआ कक पक्षियों के घोंसले नष्ट हो गए और िारों तरफ पक्षियों की िीख-पुकार सुनाई 
देने लगी और इसका पररणाम  एक आदमी न ेहाचथयों को अपने वश में करके उनकी सारी ताक़त का सही प्रयोग 
करते हुए उन्हें भार ढोने के काम पर लगा ददया । 
2. हमारे देश का झांडा हमारी शान है तो आप भारत के ततरांगे झांडे के तीन रांग और उनका सांदेश ललखो ।  (2 अांक)                                           
उत्तर :- हमारे देश का झांडा हमारी शान है और वह हमारी आन बान शान को बनाए रखता है । इसके तीन रांग हमें 
अलग-अलग सांदेश देते हैं । 
1.केसरी रांग बललदान का  प्रतीक है  

2. सफेद रांग शाांतत का  प्रतीक है । 
3. हरा रांग हररयाली और खुशहाली का  प्रतीक है । 
3.हाथी से िांगल में सब परेशान थे तो आप बताइए कक हाचथयों न ेककस-ककस को नुक़सान पहुुँिाया ?   (2 अांक) 
उत्तर :- हाथी िांगल में अपनी मनमानी करते थे और सभी िानवर उसस ेपरेशान थे और उन्होंने कई प्रकार के पे़ि 
पौधों और िानवरों को नुकसान पहुांिाया। 
4. रामपुर गाांव के लोग सुबह आवाजों  से िागते थे तो आप बताइए कक पूरा गाुँव रोज कौन-कौन सी तीन आवाजों 
से िागता था ?             (2 अांक) 
उत्तर :- रामपुर गाांव के लोग नदी की कल-कल की आवाज दसूरी ओर नदी पर बिते ढोल की आवाज और मजजिद 
से आती अिान की आवाि से िागते थे ।      

Punjabi 
ਪ੍ਰਸ਼ਨ 1 ਪ੍ੰਜਾਬ ਦੀ ਮਾਾਂ ਬੋਲੀ ਕਿਹੜੀ ਹ ੈ?                       (2) 
ਉਤੱਰ--ਪ੍ੰਜਾਬ ਦੀ ਮਾਾਂ ਬੋਲੀ ਪ੍ੰਜਾਬੀ ਹ।ੈ 
ਪ੍ਰਸ਼ਨ 2.  ਮਾਾਂ ਬੋਲੀ ਨੇ ਪ੍ੁਸਤਿ ਨ ੰ  ਿੀ ਿੀਤਾ ਹ ੈ?              (2) 
ਉਤੱਰ--ਮਾਾਂ ਬੋਲੀ ਨੇ ਪ੍ੁਸਤਿ ਨ ੰ  ਕਸ਼ੰਗਾਕਰਆ ਹੈ। 
ਪ੍ਰਸ਼ਨ 3. ਸੱਚ ਬੋਲਣਾ ਕਿਹੋ ਕਜਹੀ ਆਦਤ ਹੈ  ?              (2) 



ਉਤੱਰ -- ਸੱਚ ਬੋਲਣਾ ਚੰਗੀ ਆਦਤ ਹੈ।  
ਪ੍ਰਸ਼ਨ 4 . ਕਿਹੜੀ ਰੁੱਤ ਿਾਰਨ ਿੀੜੀਆਾਂ ਦਾ ਬਾਹਰ ਕਨਿਲਣਾ ਔਖਾ ਹੋ ਜਾਾਂਦਾ ਹੈ ?                                    (2) 
ਉਤੱਰ--ਸਰਦੀ ਦੀ ਰੁੱਤ ਿਾਰਨ ਿੀੜੀਆਾਂ ਨ ੰ  ਬਾਹਰ ਕਨਿਲਣਾ ਔਖਾ ਹੋ ਜਾਾਂਦਾ ਹੈ।  
ਪ੍ਰਸ਼ਨ 5.  ਸੱਪ੍ ਤੇ ਡੱਡ  ਸਰਦੀ ਿਾਰਨ ਕਿੱਥੇ ਕਿਪ੍ੇ ਰਕਹੰਦੇ ਹਨ ?                                                                         (2) 
ਉਤੱਰ --ਸੱਪ੍ ਤੇ ਡੱਡ  ਸਰਦੀ  ਦੇ ਕ ੱਚ ਚ ਕਹਆਾਂ ਦੀਆਾਂ ਖੁੱਡਾਾਂ ਕ ੱਚ ਜਾਾਂਦੇ ਹਨ। 

Maths 
Q1.  Write 9021 in expanded form in two ways :                                             (2 marks) 
Solution:  !st way : 9 thousands + 0 hundreds + 2 tens + 1 ones 
                2nd Way:  9000 + 0 + 20 + 1  
Q2. Write 8406 in expanded form in two ways:                                             (2 marks) 
Q3. A shopkeeper has 1545 eggs in his shop. He sold 946 eggs. How many eggs are left to sold? (3 marks)                                                                                                                             
Solution:     Number of eggs in the shop  =       1 5 4 5  
                     Number of eggs sold           =   -      9 4 6 
                   Number of eggs left              =       0 5  9  9 
 
 Q4. Rahul has 2359 stamps. Out of these, 1985 are Indian stamps and the rest are foreign stamps.  How many foreign 

stamps did he have?                                                                                                       (3 marks) 

Q5. Sanjay has ₹2000. He bought shoes for ₹1500 and a T-shirt for ₹350. What amount is left with Sanjay?     

                                                                                                                            (5 marks) 

Solution  :   Cost of shoes  =      ₹ 1 5 0 0                             

                    Cost of T- shirt= + ₹    3 5 0                          

                    Spend money    =   ₹ 1 8 5 0   

                          

                   Sanjay had  =      ₹  2 0 0 0 

                  Spend money  =   ₹  1 8 5 0 

                   Left money  =    ₹ 0 1  5  0 

                                        

Q6. Seema has ₹5000. She bought cloths for ₹ 2500 and a Shirt for ₹1000. What amount is left with Reema? 

                                                                                                                                                  (5 marks)                                     

Science 
Q1. If you were to explain the importance of bathing to a younger child, which four benefits will you highlight?                                                        

(4)  
Answer. Benefits of bathing are: 
1. Bathing Cleans our body. 
2. It removes dirt and odour from our body. 
3. It protects us from infection. 
4. It improves our blood circulation. 
Q2 How will human life change if trees do not provide fruits, shade, or wood? Give three points.                      (3)  
Answer. If trees do not give us fruits, shade, or wood: 
1.We would not have tasty fruits to eat.  
2.We could not sit under trees to rest when it is hot.  
3.We could not use wood to build houses or make things. 
Q3. Explain the following words in one line.                                                                          (3)  
1. Aroma  2.Texture   3.Garnishing 
Answer - 1. Aroma – A pleasant smell that we get from food, flowers, or spices. 
2.Texture – The feel or touch of a surface, like smooth, rough, soft, or hard. 
3.Garnishing – Decorating food with small items like fruits, nuts, or herbs to make it look nice. 
Q4. If a child plucks too many leaves from a small plant, what changes will happen in the plant? Give three 
points.                     (3) 
Answer. 1.Plant cannot make enough food. 
         2. Growth of plant will be less. 
         3. Plant may die. 
Q5 If herbs are small plants with soft stems and a short life span, why do you think people still grow herbs in 
their homes and gardens? Explain with reasons. Give three points.                            (3)  



Answer. 1. Herbs are useful in cooking for taste and flavor. 
2. Some herbs are used as medicines. 
3. They grow quickly and are easy to care for. 

Social Science 
Q1. Name any four food items that have good nutrition value. Mention three benefits. 
Ans.: *Healthy Foods: 
1. Spinach 
2. Almonds 
3. Salmon 
4. Sweet Potatoes 
*Benefits:* 
1. Gives you energy 
2. Keeps you healthy 
3. Helps prevent diseases. 
Q2. Mention three features of nuclear family. 
*Answer:* A nuclear family has three main features: 
1. It's a small family with parents and kids. 
2. It has two generations: mom, dad, and their children. 
3. They live on their own and make their own decisions. 
 Q3. What clothes do we wear in summer and winter? 
*Answer:* 
- In *Summer*: We wear lightweight clothes like cotton dresses, t-shirts, and shorts. 
- In *Winter*: We wear warm clothes like woolen sweaters, coats. 
 
 
 


